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Put a circle round two numbers that add up to 140. 
 
 

2)  Put in the missing digit:                4      
                                     × 6   
                                    276 
 
 
3)   
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The numbers on each edge of 
the triangle should add up to 
100. 
 
Put numbers in the empty circles 
to make this true: 
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1. 74 and 66           

 

2. Missing digit = 6             

   

3.                      20 

                     30    40 

                   50  10   40 

 

 

 

 


